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(FBE) BEAR R1 R2 R3 R4 R5 R6 R7 R8 R9 R10 X 5% (F+H) > (+M8)
| | ARER 4B S| AAREN 4B & % 6.2 4.2 8.0 1] pe = = I
2 AT 18 INRLEFEEXKN 9 5% 1972 16. 4 3.1 50.8 1 A AL =1 =1 I
3 = A5 SMEAN6 SR 1979 18.4 3.6 66. 2 1 A AL =1 =1 o
4 h B8 E L - MR 1979 18.6 8.2 152. 5 1 PC )% =1 I
5 AR INREERER N 1 B 1968 18.9 3.0 56.7 1 A A =1 =1 I
6 1B 4 5 1B 4 X A R 1966 21.2 3.6 76.3 1 AR L =1 =1 I
7 B iE HFE/ £ - BFRR 1972 23.5 4.8 112.8 1 A AL =1 =1 o
8 EHE DX A2 5K 1978 25.0 3.6 90.0 1 A AL =1 =1 o
9 L BE 5 0l R 4R HERXRAN 185K 1997 33.9 5.0 169.5 1 PC O =1 = I
10 AN R TERETR 2015 40.0 7.2 288.0 1 A A O =1 =1 I
11 XEHE ERERNE#H 1975 70.0 5.0 350.0 1 A A =1 =1 I
12 HREE RHET - HIRE 1990 75.0 10.3 772.5 2 AR L =1 =1 I
13 t JT 15 A KR 1971 89.0 5.1 453.9 2 A AL =1 =1 I
14 TRIBSERE FERL - BO#K 1990 89.8 2.8 251.4 2 A AL =1 =1 I
15 h BB YBEXAN1EH 1967 15.2 4.7 1.4 1 A AL =1 O =1 m £HEE
16 INREB1 5B IR B X N R B 15.2 5.0 76.0 1 PC =1 =1 I
17 FARFB1EHE TR - KETR 1951 17.3 6.7 115.9 1 RC & =1 =1 I R1 27,900
18 ETE1EE AZRAK 1989 18.2 4.2 76. 4 1 PC =1 =1 I
19 B i5E KE - Hi5HE 1978 21.2 3.5 74.2 1 A AL =1 =1 o
20 hithis 1 518 TN 2 B B 22.1 5.0 110.5 1 PC J=1 =1 I
21 EUIE (45HE) iR - 2AK 1974 22.6 4.3 97.2 3 PC J=1 = o
22 AEE TR AR 1979 23.4 4.8 112.3 1 A A =1 =1 I
23 HPHB HFE/ £ - AR 1970 23.5 5.3 124.6 1 A A m O (@] =1 m & 1&E 37, 800 R3 30,729
24 RKE EXRAN2E# 1977 30.7 5.0 153.5 1 AR L =1 =1 i
T MR- S A8 1980 200 39| 1560 1| A& = = T
26 KHERAE KEHARXRN2S K 1973 40. 4 4.9 198.0 1 A AL =1 O =1 I B 30, 000
27 BB BEARE 1994 48.8 10.8 527.0 1 A AL O = O = I &1 10, 000
28 mEXE TH - R 1984 78.9 7.5 591.8 3 A A O =1 =1 I
29 HBR1EE EJUIE POk 1983 16. 2 8.8 142. 6 1 A A =1 = I
30 |wEm N - & 1954 7.0 5.0 ) B = = = T @z &n 5000
31 FRFE T M AT £R 1963 18.8 3.4 63.9 3 RC =1 =1 I 1& & 1,738 R5 1,738
32 AWl E L - MR 1979 21.5 8.6 184.9 1 PC =1 =1 I
33 HEBE E L - MR 1982 23.0 9.1 209.3 1 A A O O =1 =1 I [E3:3 47,139
34 wmEE KE - g 1976 25.0 5.0 125.0 1 A A =1 =1 I
35 AEE AEXRA2 B 1977 26. 4 2.5 66.0 1 A A =1 =1 I
36 B2 EJUIE PO 1984 28.6 8.2 234.5 1 PC =1 =1 I
37 IR I - BARKR 1972 30.0 4.7 141.0 1 PC =1 =1 I
38 bR [ 5 A 4R 1981 41.2 5.2 214.2 1 A AL =1 =1 o
39 3= =45 2016 42.0 8.2 344. 4 1 A A =1 =1 o
0 |rRERm NAAR - MAR 1965 187 51| 2484] 1| A& = = I
1 INFF A INFRRAI2E R 1980 49.2 8.0 393.6 1 A A =1 =1 o
42 KEFIB B N BT [ LWL 48 1926 15.8 4.2 66. 4 1 AR L =1 = I &4 22,021
43 BEE KI5 1992 19.2 5.2 99.8 1 A AL =1 =1 I
44 BZR 154 BZEXAS 4 5 1994 20.0 5.2 104.0 1 RC =1 =1 I
45 AKBRISHE ABRARXRANISHE 1974 20.5 3.6 73.8 1 A A = =1 I
46 HE/ LB HPE/ EXRN1E#H 1968 22.5 2.8 63.0 1 A A = =1 I
47 iy PR E L - MR 1986 24.8 9.2 228.2 1 PC =1 =1 I
48 ENEE 4 X AR 1973 25.5 4.8 122. 4 1 AR L =1 = I
49 Lt BE VE - LHBER 1976 30.0 5.0 150.0 1 A AL O =1 =1 I
50 h R 5 TH-TmER 1993 53.9 8.0 431.2 1 A AL = =1 I
51 TRAAE FEp - BORKR 1964 84.7 6.6 559.0 2 A A m O =1 m g 4 30, 000 R5 26, 448
52 I I - HEE 1990 90.0 10. 8 972.0 3 A AL (@) = =1 I
53 KB INBEEFER N 1 5§ 2000 15.0 4.2 63.0 1 PC =1 =1 I
54 BB e - BT 2005 15.0 8.1 121.5 1 PC =1 )=t I
55 |HERMISRIEE |HERM4EH % 5.5 5.2 80.6] 1] A& = = 1
56 AERANIISRISHE MERRNIISHE 1984 16. 4 3.7 60. 7 1 A AL = =1 I
57 2 518 AZEAE 1988 18.1 4.2 76.0 1 PC = =1 I
58 53098 NAITE A 9 B 1977 19. 4 3.0 58.2 1 A A = = I
59 BB BE - KET#R 1982 22.6 2.8 63.3 1 A A | m O =1 I & 1@ 20, 000
60 o BE 5 [ - PR 1977 27.0 6.9 186.3 1 PC =1 )=t I
51 R % EHE 1972 271 27| 1274 2| e = = I
62 A5G FIEERN2 5 1996 33.0 5.2 171.6 1 A AL =1 )=t I
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63 T B A F b #R 1994 35.9 5.2 186.7 1 * 3L = 1

64 KIEFHE TERL - HORR 1996 37.2 11.9 442.7 1 A A = )= I

65 15 EAR - RETHR 1999 44.0 11.0 484.0 1 PC O =1 =4 1

66 BEXE HHET - BEERK 1996 109.2 12.0 1310. 4 3 A AL =4 O = m B 30, 000

67 154 KER 17548 1992 15.0 6.2 93.0 1 PC = = I

68 REF EE55#% 1970 17.0 4.4 74.8 1 A A = = I

69 B W1 1588 1960 17.9 8.2 146.8 1 RC = I I

70 E/TE FEHE2ER 1977 18.7 4.7 87.9 1 A A = = I

71 KEIE FERAERKR 1976 21.2 3.3 70.0 3 PC = = I

12 ki %395 1989 29.6 2.3 68. 1 1 A AL = = I

13 FEAB AR 2014 32.0 6.2 198. 4 1 A A = = I

14 REIE Hi5 4 35K 1982 32.5 6.0 195.0 1 A A = = I

75 MEE FEBIR 1960 79.0 5.1 402.9 3 PC = I I

76 L H1515 (2548) L AB2E 1971 93.0 4.8 446. 4 3 PC = = I

17 BOE KER 3 &5 1975 20. 4 4.8 97.9 1 A AL =4 = I

78 BAE #2355 % 1973 21. 4 4.7 100. 6 1 A AL =4 = I

79 FHER & IR iR 1970 22. 4 4.8 107.5 1 A A =4 = I

80 EY1E Mg 2 458 1981 24.2 7.2 174.2 1 PC =3 = 1

81 HERNE AERNK 2015 25.5 5.0 127.5 1 * B )L = B 1

82 TRIE w2EHR 1973 25.6 3.9 99.8 3 A A =4 =1 I

83 B i51E Bl 7535 4% 1993 74.6 10. 2 760.9 2 PC =4 = I

84 7550 15 5 5] #f 1985 76. 2 9.7 739.1 2 PC =4 = I

85 FRIE TEER 1983 15.0 4.8 72.0 1 RC =4 =4 I

86 S F A NG HE135HR 1982 15.6 5.0 78.0 1 PC =4 =3 1

87 He 5 EHEOER 1974 20. 4 4.8 97.9 1 * B )L O =3 m &4 30, 000 R4 7,148

88 |@xi K - Bl 2008 23.5 8.5 199.8] 1 PC = = 1

89 M 41 45 W21 5% 1989 29.7 6.2 184.1 1 A AL = =4 I

90 A1 FEHER 1997 32.0 8.2 262. 4 1 A AL =4 =4 I

91 EiB251E ERR 1994 34.0 8.6 292. 4 1 A A =4 =4 I

92 % M & 15 2 MERtYH-HR 1993 95.0 10.2 969.0 3 A A = =3 I

93 AO165#K 151 AO1 68548 2002 15.0 5.2 78.0 1 RC =4 I

94 HE2ERIEE Mg 2 5% 1982 17.2 2.8 48.2 1 PC = =i I

95 BHiE FERAERKR 1986 19.1 3.6 68.8 1 A AL =4 = I

96 JIYVE /N R 2000 21.9 8.2 179.6 1 PC = =4 I

97 TS EB75R® 1989 23.0 5.2 119.6 1 A A =4 = I

98 TEHiE EE15#K 2000 25.9 6.2 160. 6 1 A A = =4 I

99 aF 8B R 1985 26.8 7.2 193.0 1 PC = =4 1

100 | o048 ISE 2001 31. 4 10.7 336.0 2 RC = = 1

101 ERIEBE1EB k1258 2010 34.5 8.5 293.3 1 A AL = =4 I

102 |24 —4F #5258 1994 38.0 10.3 391.4 1 A AL = =4 I H29 38,000

103 |&i5HRAEE H1i56 6 5% 1996 15.0 5.0 75.0 1 RC =4 = I

104 |& 1548 EE A BR 1999 15.0 5.2 78.0 1 PC = = 1

105 |H L WK1 458 1982 15.6 5.2 81.1 1 PC =3 = 1

106 |EhiE il 3B 1982 16.2 5.2 84.2] A:1 A AL = O = m & & 25,000

107 |fER94E KR 1158 2002 18.6 5.2 96.7 1 PC =4 = I

108 |E4 145 KR 6 45 1986 22.8 3.7 84.4 1 A AL =4 = I

109 |B"F#E HO125H 1997 25.0 8.5 212.5 1 PC =4 = 1 H29 16, 305

110 |LBEBISE Ny B 75H 1963 29.0 3.6 104. 4 1 A A O = = m BIEFE

111 =X 145K 1986 30.3 5.0 151.5 1 PC =3 = 1

112 |HEI0SHRISE HTE105# 2005 36.5 7.6 277. 4 1 RC =4 = I & #E 18, 225

113 B 15 HE - PHR 1992 15.7 4.2 65.9 1 A AL = = I

114 2 555 88 B R iR 2006 17.5 6.2 108.5 1 PC = = I

115 | RETILARISHE BT LA R 2011 19.5 8.2 159.9 1 PC = = I

116 |BEE X AR 1990 22.0 7.2 158.4 1 A A = = I

117 |EmRE polay 1980 22.4 6.0 134.4 1 * B )L = I 1

118 |EH1E g - B R 1990 28.9 10.7 309.2 1 A A = = 1

119 |BA#HBamRILE = A 4R 1990 34.5 4.8 165.6 2 PC = = I

120 |# 4~ iRE /M- BwYRR 1997 39.2 5.0 196.0 3 PC O =4 = I

121 KEF X F iR 1997 52.17 9.0 474.3 1 PC o] =4 = I

122 154 =R i 4R EN::] 15.9 1.7 122. 4 1 PC =3 = 1

123 |EIB &4 IR R 1967 19.1 4.8 91.7 1 * 3L =3 B I H29 5,750

124 |2 HE RIEFR 1992 24.3 8.2 199.3 1 PC =4 )= I

125 | T B BT E#& 2001 44.0 8.2 360. 8 1 A AL =1 I=t i
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126 |LEHE N N ) 1985 47.0 4.8 225.6 2 A A =1 )= I

127 E2EHE BEXER 1962 52.3 6.1 319.0 4 PC = =1 =1 I R1 38,614

128 |AaE+#E R EINE S 1967 52.5 5.6 294.0 3 * AL =4 = I

129 FERERE FEREHR 1962 54.5 3.5 190. 8 4 PC =1 | =1 m & 1& 20, 000 R6 14,024

130 h A R A5 AHE - BIER 1983 81.0 8.2 664. 2 2 A AL =1 = I

131 f& ih 45 T B2 #h §R 1982 18.1 6.7 121.3 1 PC =1 =1 I

132 |REKEE B 1E AR 1949 22.0 7.0 154.0 3 RC O =1 =1 I

133 EEHIB EEHR 1988 25.5 3.2 81.6 1 A AL = =1 I

134 PR B F#& 1995 27.0 8.2 221.4 1 A AL =1 =1 I

135 Rihiz R i #R 1978 28.4 5.6 159.0 1 PC =1 =1 I

136 FRRIE thfg - BHRR 2007 31.0 10.8 334.8 1 A AL (@) =1 =1 I

137 T/ B KR 1997 42.0 8.3 348. 6 1 A A =1 =1 I

138 KAEE B/ EB% 1966 58.6 4.2 246. 1 6 A A =1 =1 I

139 KEE Lty R#B 1997 66.0 12.0 792.0 2 A AL = =1 I

140 REE K- I EOR 1980 75.6 3.8 287.3 6 A AL =1 =1 I

141 wREE iR - SRR 1981 20.7 6.2 128.3 1 PC =1 =1 I

142 = A5 = 0 R 1971 21.0 5.1 107.1 1 A AL O =1 =1 I R1 24,410

143 T L= IV N R 2003 21. 4 6.2 132.17 1 PC =1 =1 I

144 S5 BiE 2ER® 1965 51.7 3.3 170.6 5 A A m O =1 il & 1&E 15, 000

145 TrIWE R 1953 60.0 1.8 108.0 2 A AL = = m BI 1R

146 OB 1h B #R 1949 77.6 2.3 178.5 1 A AL =1 =1 m BI 18

147 A S Wik - AER 2009 87.0 6.2 539.4 3 A AL =1 =1 I

148 IREE IR R 2001 89.6 12.0 1075.2 3 A AL = =1 I

149 | KZEE AHE - _BAHEE 1996 95.9 8.2 786. 4 3 A A = =1 I

150 Hh I XAE KR 1974 15.0 4.4 66.0 2 A A O O O =1 = m B H 100, 000

151 ARG fiy) - £/ EER 1978 15.6 4.1 64.0 1 A AL =1 =1 I

152 LtiREE TiREH 1994 16.0 8.2 131.2 1 PC =1 =1 I

153 MENE iR 2004 17.5 8.3 145.3 1 A AL =1 =1 I

154 NEE =i N BB R 2011 18.0 1.8 32. 4 1 PC =1 =1 I

155 BEAE FFE - IR R 2001 18.0 6.8 122. 4 1 PC =1 =1 I

156 |l & IREER)I SR 1976 19.2 1.2 23.0 2 A A =1 =1 I

157 BARRE HARRE 2008 34.0 5.2 176.8 1 A AL =1 =1 I

158 W R 45 KR 1998 53.0 9.7 514.1 2 PC =1 =1 I

159 BIEE2 5@ 1 # §R 1989 16. 4 3.0 49.2 1 A AL =1 =1 I

160 BEERB Y)31 - BHIRRR 1971 17.0 5.8 98.6 1 A AL =1 =1 o

161 EHE LB 1982 19.0 4.0 76.0 1 A A = =1 I

162 |EIFIiB (2 B18) S AT 2007 35.4 6.0 212. 4 1 PC O =1 5 1

163 BB Y] 3L 4% 1952 40.0 7.0 280.0 4 A AL =1 = I

164 Kot g2 513 1998 44 2 5.0 221.0 3 PC (@] =1 =1 I

165 B S AT 1998 47.4 6.0 284. 4 3 PC (@] =1 =1 I

166 HINREE K& 1986 15.0 6.2 93.0 1 PC =1 =1 I

167 EHE BHEF 1981 18.6 2.8 52.1 1 PC =1 =1 I

168 |F&/NAE N R BT A R 1978 21.8 5.8 126. 4 1 PC =1 | | (@] =1 m (33 15, 000

169 ZEB PEUVIR 1981 26.5 9.7 257.1 1 A &)L =1 =1 I

170 ANERER ANEREE S 1985 32.0 8.2 262. 4 2 PC =1 =1 I

171 LTEBEEE PEUVIH 1984 38.0 8.2 311.6 1 A AL =1 =1 I

172 EREER tREER 1992 18.9 5.2 98.3 1 PC =1 =1 I

173 | iRB 74 i 4% 2001 19.4 8.6 166. 8 2 RC O =1 =1 I

174 | L% E — B8 1974 20.5 4.8 98. 4 1 A A =1 =1 I

175 INRAE 74 /I\ i $2 1974 25.0 5.8 145.0 1 A AL =4 =1 I

176 HEEB FHHR 1995 46.5 8.2 381.3 1 A AL =1 =1 I

177 KB T HF K 1999 50.0 14. 4 720.0 1 A AL O =1 =1 I

178 JRINEREE 1 545 B PO R 4R 1995 15.0 5.2 78.0 1 PC = =1 I

179 154 HTEDHH A B 15.6 2.6 40. 6 1 A A = =1 I

180 |EH KB INGG J BEER 1978 19.1 5.0 95.5 1 A A =1 =1 I

181 INGD BT 1B o (1l §R 1983 29.0 5.2 150. 8 1 AR )L =1 = I

182 BB [ER=EC 2012 55.0 6.2 341.0 1 A AL =1 =1 I

183 TRE TRHS & 2005 63.8 5.2 331.8 2 A AL =1 =1 I

184 HEE 1545 HEER 1996 64.0 6.2 396. 8 2 A AL =1 =1 I

185 hAl BRI o 5] | 4R 1965 15.0 3.7 55.5 2 A A O O O O =3 =1 m L% 100, 000

186 |[BEEEE1E5HE AEx - -BHAAR 2001 15.2 5.2 79.0 1 PC =1 =1 I

187 REFHEERE EAIIET 1995 38.0 6.3 239. 4 1 PC O =1 =1 I

188 ot EEE PR R 1995 441 6.0 264.6 3 PC O =1 )=t 1
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189 | ILEEERE dill 2 5% 1995 49.0 5.0 245.0 1 PC O =4 1

190 |BHEER 2% - TH# 1985 117. 4 6.2 727.9 3 A A ) = L = I E - R 500

191 EIE = AHHER 1972 132.0 3.7 488. 4 3 A AL = O = m B 15,000

192 S BHAIEE ErEAR 1985 20.6 8.2 168.9 1 A AL =4 = I

193 |H &8 rE158) 1971 21.5 4.0 86.0 2 PC =4 = I

194 |EHiE EEN 1972 21.5 4.6 98.9 1 A A = = I

195 |ERFI#E W IR A 4R 1977 110.0 6.0 660.0 2 e R% O = = I

196 |BE4E BE - VR 1983 115.0 6.2 713.0 2 A A =4 = I

197 BAIE B A # 1970 122.0 3.0 366.0 3 A AL =4 = I

198 |F& 1545 FA15# 1991 15.5 5.2 80. 6 1 RC =4 =4 I

199 |—YREB — YR 1E5#HK 1969 19.4 3.0 58.2 1 A A =4 =4 I

200 |Z&TF 18546 HT25# A:1962 B:1979 21.0 6.0 126.0 1 PC =1 =4 bi

201 M 2R g FEE 25K 1994 27.0 5.2 140. 4 1 e R% I =3 I

202 |HEHE = HE R 2005 133.0 10. 8 1436. 4 3 A A = = I

203 |EUI1 BB BY25 &% 1981 16.6 5.0 83.0 1 PC I= =1 I

204 |FHIELE HIE 158K 1993 17.7 4.8 85.0 1 PC =4 = I

205 |E@XEE HZTHR/NGR 2012 37.0 1.2 266. 4 1 A A = =4 I

206 |KHhEIE INEREE - T IR 2005 52.0 8.2 426. 4 1 A A O = =4 I

207 |MZEHESERE M 22 35 8 15 R 1989 96.0 2.8 268. 8 1 * B )L B =4 1

208 |EREEABLSELS PR AR 2012 111.0 2.8 310. 8 3 A A O = =1 I

209 | KRB ETERE 2018 17.5 6.0 105.0 1 PC =4 = I

210 |— 248 ETEARR 2018 19.0 6.0 114.0 1 PC =4 = I

211 INFNR2E 4T INFD B #R 1970 24.0 3.7 88.8 1 A A =4 = I

212 |#xiAidg HEMEFR 2003 133.0 10.7 1423.1 3 A A = = iy

213 |&HEE %% H % 1987 27.0 4.2 113.4 1 * B )L =4 1

214 |iE#EE HRBR#B 1972 30.1 6.3 189.6 1 A AL = = I

215 |&# E L 1988 34.5 6.2 213.9 1 A AL O = =4 I

216 |Z &1 OEE#R 1972 36.5 4.8 175.2 1 A AL = = I

217 |fM&EHE BEE# 1978 74.2 4.9 363. 6 2 A A o] = = I &4 260 R4 260

218 |FaEE B2 - LUK 1962 15.0 4.9 73.5 1 PC =3 = I

219 |E#EBE =R AR 1973 25.5 4.8 122. 4 1 * B )L O = B I &4 28,596

220 |INBE 2% - LUK 1973 25.5 5.8 147.9 1 A A =4 =1 I

221 FEHLEH K& 1987 30.0 5.2 156.0 1 A AL =4 = I

222 [ SAE HISAE 1981 30.0 8.3 249.0 1 A AL =4 = I

223 |REE RER 1992 43.0 5.2 223.6 1 A A = O = m g fE 30, 000 R4 20, 636

224 | ERE ORER 1975 47.17 5.0 238.5 2 A A = = 1 H30 30,199

225 | ERE WHE2E5# 1986 48.0 5.2 249.6 1 * 3L = B I

226 |E#4B HWIES K 1987 16.0 10.0 160.0 1 A A = = I

227 |RREE FmIERAE 1953 17.8 5.1 90. 8 1 PC = | | O = m E & 20, 000

228 |WABE 1515 BHNIES & 1985 19.0 7.2 136.8 1 PC =4 =4 I

229 RS EERER 1979 27.0 3.6 97.2 1 A A =4 =4 I

230 |# B bR 1978 28.0 5.0 140.0 1 A A = =3 I

231 KEE 18 E #R 1992 31.0 6.2 192.2 1 * B )L I O =3 m &4 30, 000

232 |ZERHE KIR A 1979 50.0 4.8 240.0 1 A AL O O = = I &1 52,165

233 HIRE B iR #& 1984 55.0 5.2 286.0 1 A AL = =4 I

234 === FmIERAR 1953 16. 2 3.9 63.2 1 PC = =4 I 10, 161

235 |ZRFHE IHREEERK 1964 20. 6 6.9 142.1 1 PC 1 O =4 il SEHEE

236 | RiE SRR 1978 34.0 5.9 200. 6 1 A A = O = m &4 2,000

237 |WHEHE 15 E iR 1963 36.7 4.0 146.8 1 PC [ ] m O = 1 &4 25,000 R5 18, 746

238 |&#% IHE &t AEHK 1963 46.7 6.3 294.2 3 PC 1 O = m &1 15,000

239 B (L 45 B 2 5% 1981 50.0 4.8 240.0 1 A AL = = I

240 |HEAEAE OEE#R 1971 51.0 4.4 224.4 1 A AL = =4 I

241 KHitE 3 548 BREE# 2009 16. 6 5.4 89.6 1 PC =4 )= I

242 |—4 #EE R B# 1995 24.0 6.2 148.8 1 A A = = i

243 |&HE EKBARER 1995 28.0 6.2 173. 6 1 * B )L = = 1

244 |FNEE kR 1960 29.5 3.5 103.3 3 RC O = )= m RIEFTTE

245 |EHEE EREFE1S5H B 30.0 3.0 90.0 1 PC = = I

246 |FO4E FONEHR 1980 32.0 5.0 160.0 1 A AL =4 = I B 14,793

247 |BHAE K& 1982 36. 7 5.2 190. 8 1 A A =4 = 1 &4 16,175

248 |#HEELERE RABRR 2003 38.0 9.1 345.8 1 PC = = 1

249 154 TR -BERK 1991 18.0 6.2 111.6 1 PC =4 1

250 |¥BEEHE B - EHR 1978 19.6 5.0 98.0 1 A A ) = = I

251 B8O BORK 1970 42.8 4.7 201.2 2 A AL = = I
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252 |4 EEE HF R #R 1969 67.0 4.1 274.17 3 e R% O =4 I
253 |[ZEAALEE R EEN LR 1970 82.0 8.5 697.0 4 A A ) = = 1
254 |WAETE MEFR 1965 15.7 3.1 48.7 1 A AL =4 = I
255 [ & 15 AE - #BAK 1990 22.5 5.3 119.3 1 A AL =t I=t il
256 |fRE4E 5 I B AR 1964 44.2 5.1 225. 4 2 A A =4 = I &4 8,439
257 |3 WLE F LR 1969 48.6 5.4 262. 4 2 A A b = = i &4 28,710
258 |SERNE1EHE 518 N iR 2000 17.0 5.2 88.4 1 PC =4 =3 1
259 |INR#E IR R 1970 20.5 5.6 114.8 1 A A O = = I &1 385
260 |HEERNE BE - MiER 2002 33.0 9.7 320.1 1 A AL =1 =1 I
261 B X TR - Bl 1962 55.0 4.1 225.5 3 PC =4 =4 I BEfR 0
262 | L4 H#EE BB ZR% 1968 61.0 5.3 323.3 3 A A L] m O =4 il &4 30, 000 R4 44,322
263 |ZEAE A - LR 2003 24.0 9.5 228.0 1 PC = =4 I
264 |EEHE Bt - AH®R 2009 25.0 6.2 155.0 1 * B )L B =4 I
265 [{LEE 1 H #& 1998 26.0 6.2 161.2 1 A A ] O = = I & hE 20, 000 R4 16, 995
266 |DYiE = H R 1967 28.0 1.6 44.8 1 A AL = = I
267 |HEEIE B - MR 1974 55. 4 5.4 299.2 2 PC = =4 I
268 |BA 4R 4B ETai 2003 17.5 7.2 126.0 1 PC =4 = I
269 |EERAE A - ML 2003 19.5 6.5 126.8 1 PC = = 1
2710 [/ A W/ ho 5% 1981 31.8 2.8 89.0 2 * B )L = = I
271 R HEZIRE 2012 53.0 9.3 492.9 2 A A = =1 I
272 |FRAE(1E548) TR - GRED AR 2008 63.0 8.5 535.5 2 A AL =4 = I
273|348 (1 248) 0T - 397 BT 4 x5 3.0 11.5 N = = 1
274 |12/ AR A 1SR x5 3.8 4.6 17.5] 1 RC = = I
275 154 BZREXRN 15 EN::] 5.0 4.4 22.0 1 RC = = I
276 |REE (2 518) = - ABR B 11.0 8.2 90. 2 1 PC = I 1
2717 2 545 BZERXN1E5# B 4.7 4.6 21.6 1 RC = I 1
278 FRAE(1518) S - BRAK A~ EA 5.6 5.4 30.2 1 RC = = I 1B 2,200
279 4515 FERERRENR N 6.5 4.5 29.3 1 RC = O = i} B 757
280 25415 FERBRBRALE B 6.5 4.6 29.9 1 RC = = I &4 620
281 EAEAEB1ERB BAE - PETHR 1997 6.5 9.4 61.1 1 RC = = i &4 5,540
282 |@AL#E (1 5 48) Y - LR R 1981 7.0 4.5 31.5 1 RC = I 1
283 9545 EJVIR POk B 7.0 6.1 42.17 1 RC = I I
284 5545 HBRXA 15K A~ BA 7.3 4.8 35.0 1| ®vozrBNs—t =1 =1 I
285 451 HSBREA 15K A EA 7.3 4.8 35.0 1| ®vozrBNA—F =1 =1 I
286 |12/ SARMA 7S & x5 7.5 4.6 345 1 PC = = 1
287 354 * - KRR EN::] 9.0 3.3 29.7 1 RC = = I
288 |##4E (1 5148) =l - AMR A BR 7.8 4.5 35.1 1 RC = I I
289 154 INBFRXKN 3 9B ;| 7.8 6.2 48. 4 1 PC = = 1
290 |EHiE (hRBE1E5E) |MNARAERRAI SR 2000 9.0 5.2 46.8 1| ®vozrBNs—t =1 =1 I
291 1548 DMEA 1 428 F 3 8.4 4.6 38 6] 1 PC & = 1
202 |15 S AKMAS5 S & x5 8.7 1.8 5.7 1 PC & & I
293 |#2M4E (1 548) R ET - PIEAR 1986 9.3 5.2 48. 4 1 PC = = I
294 |ZE X4 (3 518) El - BER B 9.4 5.8 54.5 1 PC = I 1
295 SYREAB(AEE)|IMBE - T 1977 9.5 6.0 57.0 1 PC = = 1
296 |=EVAEIE(3ERE)|[/MBLEE - TR 1977 9.5 6.0 57.0 1 PC = = I
297 | EE HE - WIER 1972 9.6 4.1 39.4 1 RC = O = i} &4 4,000
298 1545 EERRN2 5 B 10.0 2.8 28.0 1 PC )= = I
299 2545 KRR 2 5 EN::] 12.5 5.2 65.0 1 PC = = 1
300 2545 EERAN1EH 1989 12.8 4.8 61.4 1 PC = I 1
301 154 EERXRAN 1SR 1988 13.5 4.8 64.8 1 PC )= = 1
302 |KBEFIE (2 548) EJNRN RO E 1979 14.6 9.8 143.1 1 A AL = = I
303 2545 miE - 2K B 2.6 5.6 14.6 1 RC =4 = I
304 |#KEBE1E5HE BE - RETR 2014 3.2 7.3 23. 4 1| ®vo2B0A—F =4 = I
305 154 HARET - RAHRKR B 5.5 3.5 19.3 1 RC =3 = I
306 3 5B H£ERAN 15K 1987 5.6 7.3 40.9 1 RC =3 = I
307 2 545 RZR - BEER B 6.0 3.5 21.0 1 RC =1 I=t bil
308 |12 BZERMNS 2 & e 6.0 4.8 28 8] 1 RC = & 1
309 4 5B % - KRR B 6.2 3.3 20.5 1 RC =4 = I
310 154 AREN1 4548 EN:] 7.5 5.8 43.5 1 RC =4 = I
311 154 RZR - BEER EN::] 8.1 6.2 50.2 1 PC =3 = 1
312 1548 INBLLERERX N 5 5 R B 8.4 3.4 28.6 1 PC =3 = 1
313 154 INREEAL BB A 7 B R ;| 8.4 3.4 28.6 1 PC =4 = I
314 2545 ZAK - biRR B 8.4 5.0 42.0 1 PC =4 = I
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315 1845 MEBERKN 188 X 9.4 3.5 32.9] 1] xau = 0 I B 4,000 R3 330
316 |1 245 IR LSRR M 5 248 7 B 9.4 4.4 41.4] 1 PG = = I
317 |EmiEG2/) EERMK 2 28 1991 9.4 4.8 45. 1 1 PC = = I
318 124 TRERN 2B NG 9.5 4.7 447 1 PG & = I
319 |22 & REE E 9.5 5.2 494 1 PG = A I
320 [1245 HFERNG6 2R 7 B 9.6 2.5 24.0] 1 RC = A I
321 [1845 eV EE 9.6 3.6 34.6] 1] woozmws—r = ~ I
322 |s24 T N 5 48 7R B 9.7 3.7 35.9] 1 PC = = I
323 |bim 1 BiE (REFE HHARRN 2 28 B 12.5 4.4 55.0 1 PG = = i
324 |12 R X N 1R B 12.5 4.8 60.0[ 1 PC = = I
325 |12+ 2K - B B 12.5 4.8 60.0[ 1 PG = A I
326 [124 HERRK2 28 7 B 12.5 7.7 96.3] 1 PG = A I
327 |[zvsg1@Ei1eE |0Br - Tlg 1981 12.6 6.0 75.6] 1 PC = A I
328 |#AEsEE £ - WA 1968 13.2 5.9 17.9] 1] xan = = I
329 [1&4 TR RNE B 13.5 4.7 63.5| 1 PC = = I
330 |=omE1EE KBEFEN1088H 1996 14.0 6.2 86.8] 1 PC = = 1
331 |224 TERKN 128 NG 3.8 3.9 14.8) 1 RC = = I
332 |12 HERN 2R B 3.8 5.8 ) D e = = I
333 |22 NERMK 1 188 7 B 4.0 5.0 20.0] 1 RC & = I
334 |wiE1EE HETR M 3 28 1953 4.0 5.9 23.6] 1 RC = = i
335 [124 HETR K 4 2 & 7R B 4.2 4.6 19.3] 1 RC = = I
336 |[Kn188186 BE - HANE B 4.6 3.2 14.7] 1 RC & = I
337 [124 AORMK2 S8 7 B 4.6 14.3 65.8] 1] wormmus—t = = I
338 [1245 HRARK 3 S8 7 B 5.8 4.8 27.8] 1 RC & = I
339 |z@E12E B - TATE 7 B 5.8 6.0 34.8] 1 RC = A I
340 |[/hBEE 15 INSBEERN1EH EN: ] 6.2 2.9 18.0 1 RC = = I
M k188186 kEx - HHANE B 6.3 7.2 45.4] 1 RC & = I
342 |xm2E8825%H LEEE - ERE B 6.4 4.6 20.4] 1 RC = = I
343 [124 RARM1 128 7 B3 6.5 3.0 19.5] 1 RC & = I
344 |22 KEFEN 128 NG 6.5 6.7 43.6] 1 RC & = I
345 [2245 SREM1 458 7 B 6.8 4.6 31.3] 1 RC & = I
346 |[KEFARABEI126E |XEFRWN1E2H 7 B 7.1 4.8 34.1 1 RC = = I
347 (1245 AR R A & B 7.2 4.3 31.0] 1] xa = = i
348 (1245 IR EER N 7 25 NG 7.3 3.4 24.8[ 1 RC = & I
349 [124 FERR 1084 7 B3 7.3 3.6 26.3] 1 RC & = I
350 |[BEmE126E ERET - BER 7B 7.5 4.6 34.5] 1 RC & = i
351 [NmE124E M EE 10.9 4.8 52.3] 1 PC & = I
352 [1245 FERN22& N 11.4 4.4 50.2] 1 PC & = I
353 |EmiEoeE F# X K 45 1974 11.4 4.8 54.7] 1 PC = = i
354 [-nESE28E £l - BBE G 1.4 5.8 66. 1 1 PG & = I
355 |12 KRR A B 1.5 6.0 69.0[ 1 RC & = I
356 |3 245 FEBRXNE 7B 1.6 4.8 55.7] 1 RC & = I
357 [1245 KARM 2 28 7 B 12.5 5.0 62.5] 1 PC & = I
358 [1 245 BERXK1 088 7 B 13.9 4.2 58.4] 1 PC = = 1
350 |3 248 ik - BF 8 B 14.0 4.2 58.8] 1 PC = = I
360 224 BEREXK 1684 B 3.3 4.3 14.2] 1 RC = A I
361 |224 ORRRA3 S8 NG 4.0 4.4 17.6] 1 RC I = I
362|324 SARKNT 428K NG 4.0 4.5 18.0] 1 RC A = I
363 1245 WAERKNS S & 7 B 4.2 3.7 15.5| 1 RC A & I
364 |15 ERERN16EH ] 4.3 4.9 21.1 1 RC I 5 I
365 |1 515 AERAN 8 S ] 4.5 3.5 15.8 1fmEa>5U—+ I &= I
366 |6 =45 £ERM 128 7R B 4.5 4.7 21.2] 1 RC = & I
367 |=wiE 1248 Y BRKE 7 B 4.5 6.5 20.3] 1 RC = = 1
368 |3 245 T - A 7B 4.5 6.8 30.6[ 1 RC A = I
369 1245 B 7 B 4.7 3.9 18.3] 1 RC A & I
370 [s 245 2A - bR 7 B 5.1 6.1 31. 1 1 RC = = I
371 |22 ik - BFE EE 5.1 8.2 41.8] 1] wovamus—r = = I
372|224 % . RA® B 5.3 4.4 23.3] 1 RC = & I
373 |[3e4 KEFEN 126 NG 5.3 4.7 24.9[ 1 RC I & I
3714 1845 BZERN4 7 54 B3 5.3 5.1 27.0[ 1 RC A & I
375 [1845 MMEK 1528 7 B 5.6 4.6 25.8] 1 RC A & I
376 |1 54 NNEER 1 158 ] 5.6 4.6 25.8 1 RC I 5 I
377 |12 LtRM 428 T 5.9 3.8 22.4] 1 RC = & I




RRER. JR - BHRHE (FE)

[#: R O: B# FH% m:

nE -

Rt #R - R

RIREE (F2H14 L)

RREE (E3H414IL)

EE __ ) B=& A1 E HE | e |EREHEA
EBELA B 48 & R ff Tj ;ﬁmf ‘*f TmH | wETH wE | wEns | B ﬂ”z;? (&)
(EE) BEAR| R R2 R3 R4 RS R6 R7 RS RO | RIO | ®% (FF) = | &m
378 154 INBEEFER N 1 5 EN:E] 10.5 3.8 39.9 1 PC = =1 I
379 1558 FIRRANKR2 5#H A BA 10.5 5.3 55.7 1 PC =1 = I
380 HMER 28K 1545 HMERRK 2 S 1969 10.6 4.7 49.8 1 RC =1 =1 I
381 151 BEEEXAN3IESHK A EA 10.7 3.6 38.5 1 PC =t =1 I
382 ERAB15E AREA 15K 1968 10.8 4.1 44.3 1 RC = =1 I
383 XERBE1E5HE WNE - LR 1972 11.0 4.7 51.7 1 PC =1 =1 I
384 |KIFLYE2SE HEBRBRXKN15# EN:E] 1.1 3.9 43.3 1 A A =1 =1 I
385 AKEE15E SAHXAKR 1966 11.3 3.5 39.6 1 AR L =1 =4 I
386 151E BEEERN2 5 ] 11.8 3.6 42.5 1 PC = =1 I
387 2 5 HOXKWN2 5# N 12.3 6.6 81.2 1 RC = =4 I
388 455 KIE I3 B 13.6 4.6 62.6 1 PC = =1 I
389 455 EHRE - RABRRK B 2.0 2.6 5.2 1 RC =1 )% I
390 |%kBE 158 BE - HRETR 1992 2.1 1.1 2.3 1 RC =1 =1 I
391 |15 FEERAER e 2 2 3 8 T RC = = I
392 |s=m WA BAER 0 2 4 2.6 K RC = = I
393 151 X - SINETHR A EA 2.4 10.7 25.7 1 RC I=t =1 I
394 151 VNEETERN2E5H B 2.6 3.5 9.1 1 RC =1 )=t I
395 MHEE1 58 B - EEBR O A B 2.7 3.0 8.1 1 RC =1 )% I
396 |12 e A KNS e 3.0 3.0 90| 1 RC = = I
397 55415 AT - RAERRKR I~BH 3.1 2.3 7.1 1 RC =1 )=t I
398 151E OFXN 35 ] 3.1 6.3 19.5 1 RC =1 O =1 m g & 3,000
399 151 RZBERAN25# B 3.2 4.4 14.1 1 RC I=t =1 I
400 |RAE 15418 * - KRR A B 3.5 6.4 22. 4 1 RC =1 = I
401 154 ERAN2 95K B 3.6 1.3 4.7 1 RC =1 )% I
402 KB 2E5H 158 GtEEE - ERE EN:E] 3.7 3.9 14. 4 1 RC = =1 I
403 154 HH - RETK B 3.8 2.5 9.5 1 RC =1 I=t I
404 154 INEFREA 4 SR N 3.9 7.0 27.3 1| ®vorpus—t =1 I 1
405 =AE 15 i if - ¥ F R A EA 4.0 9.0 36.0 1 RC =1 = I
406 151 WERXKN 35K EN:] 4.2 4.5 18.9 1 RC =4 = I
407 154 VNEEEXRRN1EH B 4.7 4.6 21.6 1 RC =1 )% I
408 158 HERRA1 758 B 5.0 4.5 22.5 1 RC =1 =1 I
409 1558 MZERXRAN 8 &5 A BR 9.4 4.6 43.2 1 PC =1 5 1
410 JIIFRE 151 MER - MR B 10.0 3.8 38.0 1 PC =1 )=t I
411 HRB25R2EE EBEXAN 158 N 10.0 4.7 47.0 1 A AL =4 = I
412 NIREE 154 hif - NERER 1991 10.0 13.8 138.0 1 PC =1 )=t I
413 HMER2EHR2EE HMERXA2 5% 1970 10.5 4.6 48.3 1 RC =1 )% I
414 ZSYRE2E2EE INBREE - TR 1977 10.5 6.0 63.0 1 PC =1 =1 I
115 |mmiE 1 B BERNR e 109 44 48.0] 1 PC = = I
416 158E A - WHR Nz 11.9 5.1 60. 7 2 RC O =1 )=t m g & 15, 000
417 154 ZIME - 22— B 2.4 6.1 14.6 1| ®vorhs=—t )=t =1 I
418 351 K - &R 1950 2.9 6.1 17.7 1 RC )=t =1 o
419 1558 fmx - FR A B 3.5 4.8 16. 8 1| ®vozrpRs—t =1 =1 I
420 154 aHK EN:E] 4.0 9.7 38.8 1| ®vrzmns—+ =1 =1 I
421 554 R4 I~BH 4.0 7.6 30. 4 1 RC )=t =1 I
422 158E #2154 N 4.0 12.0 48.0 1| wvozmns—t =4 =1 I
423 351 PR 45 B 4.2 7.2 30.2 1 RC )=t =1 I
424 151 EHER B 4.6 7.4 34.0 1 RC )=t =1 o
425 4 55 fmx - FR A B 5.3 6.5 34.5 1 RC )% =1 I
426 2 5B LTEER B 5.5 5.7 31.4 1 RC =1 O =1 i} [EE:3 4,000 R4 2,241
427 2 515 #2158 B 5.5 12.9 71.0 1| ®yorpLs=—t =1 )= I
428 154 =R I~BH 7.1 4.0 28. 4 1 PC )=t =1 I
429 154 Fi55 854 B 7.3 4.0 29.2 1 PC )=t =1 I
430 151 Fi5 3854 A B 7.3 5.0 36.5 1 PC )=t =1 I
431 251 EA2 5] A B 7.5 4.7 35.3 1 RC )% =1 I
432 2 5B KHBR 5354 N 7.6 3.3 25.1 1 PC =1 =1 I
433 1558 BEEH 75 A BR 8.0 4.8 38.4 1 PC =1 = I
434 151E EE T BR B 8.1 5.1 41.3 1 RC )=t =1 o
435 2545 =R B 8.4 4.0 33.6 1 RC )=t =1 I H28 190
436 2 518 #5254 A B 8.5 10.2 86.7 1| ®yorhrs—t )=t =4 1
437 15E Fi5 395K A B 8.8 4.4 38.7 1 PC )% =1 I
438 158 KHBR 655 I~BH 8.8 5.3 46. 6 1 RC =1 =1 o
439 154 KBRS 454 A BR 9.3 3.4 31.6 1 PC =1 = I
440 2 5% W2 254 N 9.4 4.8 45.1 1 PC )=t =1 I
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441 154 wWg2 254 EN:E] 9.4 4.8 45.1 1 PC )=t =1 I
442 154 EHEE I~BH 9.5 5.0 47.5 1 PC )=t =1 I
443 MERE(151E) R 2011 11.0 7.2 79.2 1 PC )=t =1 I
w4 |12 AMES 6 =& 5 35 5 7 30.5| 1] Forrir = = "
445 |1E5%E A8 B EN:] 5.3 3.3 17.5 1 RC =4 = I
446 2 51 HE1058 A B 5.4 5.0 27.0 1 RC =1 =1 I
447 154 %3451 EN:E] 6.0 3.0 18.0 1 RC =1 = 1
448 154 KHER 454 I~BH 6.3 4.6 29.0 1 PC =1 I=t I
449 154 KR 6 35 B 6.4 3.4 21.8 1 RC =1 I=t i
450 2 5 M1 154 A EA 8.0 7.5 60.0 1| ®vorhs=—t =1 = I
451 351 HE1054# A B 8.4 4.0 33.6 1 PC =1 = o
452 154 %3154 A B 8.6 5.2 44.7 1 PC =1 =1 I
453 158 KER19&5# B 9.0 3.2 28.8 1 PC =1 =1 o
454 PEEBE1E5E mE1 98 1973 9.4 5.8 54.5 1 PC =1 =1 I
455 154 =M 6 54 Nz 9.4 6.0 56. 4 1 PC =1 =1 I
456 HH1E5E756E R 4R B 12.5 6.8 85.0 1 RC =1 =1 I
457 EHIE 4B R 4R ~BH 12.5 6.8 85.0 1 PC =1 = I
458 B/ MWME11E5E R 1985 12.5 7.2 90.0 1 PC =1 =1 I
459 154 KER12E85#% EN:E] 12.7 3.4 43.2 1 PC =1 =1 I
460 1558 fEXk2E58& B 13.6 4.0 54. 4 1 PC =1 | | (@] =1 m &4 10, 000
461 M5 (1 545) AO1 3848 Nz 13.6 5.1 69. 4 1 RC =1 I=t bl
462 HHh2E51E5(8 51E) K 4R B 13.6 6.8 92.5 1 PC =1 =1 o
463 151 b /L - ERIEHR A B 13.7 3.1 42.5 1 PC =1 =1 o
464 |HHEIEIEHE 22548 A B 13.7 4.0 54.8 1 PC =1 =1 I
465 158 HES5 5 2005 14.0 4.2 58.8 1 PC =1 =1 I
466 154 M1 6548 I~BH 14.0 5.2 72.8 1 PC =1 =1 I
467 |2518 (2 S18) AR 4628 B 14.0 5.3 i RC o = I
468 |1 548 Tl 2 5 T B 14.3 3.0 42.9 2 PC = I I
469 351 hE 25 A B 4.0 4.8 19.2 1 RC =1 =1 I
470 154 #2458 A B 4.4 3.4 15.0 1 RC =1 =1 I
471 154 %265 N 4.4 6.4 28.2 1 RC =1 = I
77 |12k %2228 e 48 7.4 35.5] 1] mormnnir a = I
473 158E %385 Nz 4.9 4.3 21.1 1 A AL =1 =1 I
474 2 5 A8 B N 8.0 3.4 27.2 1 RC =4 =4 I
475 151 EE 1 4548 B 5.3 4.2 22.3 1| @#warru—t )=t =1 o
476 154 1E 7 3% % A B 5.9 5.4 31.9 1 RC =1 =1 I
4717 2 5B hE2 5 N 6.0 3.4 20. 4 1 RC =1 =1 I
478 154 Fi5 35854 B 6.0 3.8 22.8 1 PC =1 =1 I
479 2 5% EEV1 4 B R Nz 6.1 4.5 27.5 1 RC =1 =1 I
480 2545 EH7ER ~BH 6.3 4.3 27.1 1 RC =1 =1 I
481 7ouiE (1548) KER 535K 2018 16. 2 5.2 84.2 1 PC =1 =1 I
482 154 ZIME 1 354 A B 6.4 4.1 26.2 1 A A =1 =1 I
483 4 55 WK1 1546 B 6.5 4.5 29.3 1 RC =1 =1 I
484 1248 EE2 28 e 6.7 7.2 48 2| 1 PC = = I
485 154 MK 2 354 I~BH 7.1 3.8 27.0 1 RC =1 =1 I
486 BSERNE1S5E FEH®E ~BH 12.6 4.7 59.2 1 PC =1 O =1 m BiE 1,000 R5 4,264
487 FEFEiE2515 FEH% 1967 12.9 4.1 52.9 1 PC =1 =1 I
488 154 AO 35 A B 13.0 1.8 23.4 1 RC =1 =1 I
489 FrH2EE1E5E KER20&5# 1976 13.5 4.8 64.8 1 PC =1 =1 I
490 HEE(9E51E) R 4R 1981 13.5 6.8 91.8 1 PC )= =1 I
491 ERER R R 4R 1981 13.5 6.8 91.8 1 PC =1 =1 I
492 2 555 AiERR A EA 2.3 6.5 15.0 1| ®vorhs=—t =1 =4 1
493 151 Hig2 554 A B 3.8 3.9 14.8 1 RC =1 )=t I
494 2 51 K2 35 A B 3.9 3.4 13.3 1 RC =1 = I
495 2 5B %3 9B B 4.3 6.5 28.0 1 RC =1 =1 I
496 154 KER 185 I~BH 4.4 5.8 25.5 1 RC = =1 I
497 2 51 &5 8 5 N 4.4 6.6 29.0 1 RC =1 =1 I
498 151 K125 A EA 4.5 6.8 30.6 1 RC = =1 bi
499 151 %365 A B 4.6 3.9 17.9 1 A AL =1 =1 I
500 15E RO 4548 A B 4.8 2.9 13.9 1 RC = =1 I
501 154 #1158 B 4.9 3.1 15.2 1 RC =1 =1 I
502 158 #w155#% B 4.9 3.4 16.7 1 AR L =1 = I
503 151E &5 8 5 N 4.9 4.6 22.5 1 RC = =1 I




RRER. JR - BHRHE (FE)

[#: R O: B, FH% W 5E - % # gy

RIREE (F2H14 L)

RREE (E3H414IL)

EE __ ) B=& A1 E HE | e |EREHEA
8 18 4 B 42 4 R ff Tj ;ﬁmf ‘*f THH | HEIH uE | wEms | =28 ﬂ”z;? (23
(&) wEAB | R R2 R3 R4 RS R6 R7 RS RO RIO | K% (FM) = | M
504 2 515 555k A BA 5.0 3.5 17.5 1 RC I 1
505 1545 &5 55K B 5.0 3.5 17.5 1 RC = =i I
506 1545 EE1 1 BR 7~ B 5.0 3.8 19.0 1 RC )=t =1 I
50 |15 %3 3 5 & x5 5.8 5.2 30.2] 1] rormmair = = 1
508 |L#ERIE1 518 Mg 2158 1997 10.3 10.2 105. 1 1 PC = = I
509 |2 EEIEE AR 465K B 1.1 6.8 75.5 1 RC O = m & #E 1,500
510 1545 AR 235K A BR 11.4 3.6 41.0 1 PC O = = I & #E 5,000 R5 4,523
511 [IE 1545 KR 6 25 2001 11.5 4.2 48.3 1 PC = = I
512 15E M2 05 B 11.5 4.4 50.6 1 PC = =4 I
513 158 EHBEHR B 11.9 5.4 64.3 1 PC = =4 I
514 154 AO5 5K EN::] 12.0 8.6 103.2 1 PC = = I
515 3515 VR R R A BA 12.1 7.3 88.3 1 RC = =4 I
516 1545 KEIR 3 6 5 B 12.5 4.6 57.5 1 PC = I I
517 2545 %3851 B 2.6 4.0 10.4 1 RC = = s
518 15E FEHE2158 B 2.8 5.0 14.0 1 RC = O = m & 1& 3,000
519 1548 %3 905K EN:] 2.9 8.6 24.9 1| ®vo2B0A—F = = I
520 154 HiE 1 35K ] 3.1 3.4 10.5 1 RC = = 1
521 |12 #1058 T8 3.6 4.8 17.3] 1] mwrrmmr = = I
522 1545 EH1 258 B 3.7 4.3 15.9 1 RC =1 I=t I
523 1545 &2 8 5 A~ BA 3.8 5.2 19.8 1 RC =1 I=t I
524 1515 KR 2 6 5# B 4.0 4.5 18.0 1 RC =t =1 il
525 1548 EH155# ] 4.3 5.0 21.5 1 RC = = 1
526 2545 155K ] 5.0 1.5 7.5 1 PC = = iy
521 |18 BE162H T8 5.1 8.7 44 4] 1] rormmnir = = I
528 |2 518 K2258 T8 5.4 8.8 T ] = = I
529 1545 EH2 6 5 7~ B 5.6 4.8 26.9 1| ®vozrBNs—t = = 1
530 1548 Fi54 354 2018 6.7 6.0 40. 2 1| ®vorhs=—t =t =1 I
531 FEHE 154 N R AR EN:] 7.3 4.2 30.7 1 PC = = 1
532 154 KBRS 05 ] 7.3 4.3 31.4 1 PC = = I
533 3515 =15 N A BA 8.9 3.5 31.2 1 PC O = = I & #E 1,254
534 |RFAE1515B AR 285K 2002 10.1 4.2 42. 4 1 PC = = I
535 1545 B2 15 A~ EA 10.2 4.2 42.8 1 PC =1 I=t 1
536 1515 A0 6 B iR N 10.2 6.0 61.2 1 PC =t =1 I
537 25415 I8 4R B 10.3 1.2 74.2 1 PC = = I
538 12548 B 4R ] 10.5 6.6 69.3 1 PC = = 1
539 154 Fi56 95K A BR 10.9 5.2 56.7 1 RC =3 = 1
540 1545 AR 6 65K B 11.0 4.7 51.7 1 PC =1 5 1
541 BRIE15E FRH% A~ BA 11.6 8.2 95.1 1| ®vozrBNA—t I= =1 I
542 1545 /AR B 3.1 12.0 37.2 1| #vozrnrn—t = = 1
543 1548 o E R EN:] 5.4 4.5 24.3 1 RC = = I
544 1548 L ERERAR ] 5.9 3.0 17.17 1 RC = = 1
545 154 BIER A BR 6.0 6.0 36.0 1 RC = I I
546 2545 @ L& B 6.5 3.0 19.5 1 RC = = I
547 5545 ABH - ZHER 7~ B 6.5 6.0 39.0 1 RC = = 1
548 1515 E_LIWER B 6.5 7.1 46. 2 1 RC = = I
549 |1548 F5 - AR 8 6.5 8.0 520 1 RC & = 1
550 2 515 L% - RO ] 6.5 13.0 84.5 1 RC = = 1
551 2545 — B BT LR A BR 7.0 4.4 30.8 1 RC = I I
552 154 PER-TE ] B 7.1 5.8 41.2 1 RC = = I
553 154 KE - BIEHR B 8.0 2.8 22. 4 1 RC = = I
554 1515 RO & A EA 8.0 4.7 37.6 1 PC )=t =1 bi
555 1548 ABEH B EN:] 8.4 4.8 40. 3 1 PC = = I
556 |#1L4E (2 B48) AB - BIER ] 8.4 7.4 62.2 1 RC = = I
557 2545 =5 A BR 8.5 4.5 38.3 1 RC = I I
558 1545 F—HIFEK B 8.6 4.6 39.6 1 PC = I 1
559 154 M L B 9.3 5.5 51.2 1 PC = = I
560 15E BALER B 9.8 3.9 38.2 1 PC = = I
561 35 EIR#E B 9.8 6.5 63.7 1 PC = = I
562 154 RERER ] 12.1 3.8 46.0 1 PC = = 1
563 154 o7 i R A BA 13.5 4.8 64.8 1 PC = I I
564 1515 (L) T H #R 1965 13.7 2.8 38.4 1 PC = = I
565 |EMFIE (1 548) AE - _HE# 2010 13.9 11.6 161.2 1 PC )=t =1 1
566 |/ T1E (1 548) R/ T 2009 14.0 6.2 86.8 1 PC = = I
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567 154 IR B 14.3 4.6 65. 8 1 A A =1 I
568 BB (151) WA R 2010 14.5 6.2 89.9 1 PC =1 = I
569 158E A LR 2003 14.8 5.2 77.0 1 PC =1 =1 I
570 15E FE_AEHLE PN 2.4 5.2 12.5 1| ®vorhs=—t J=1 )=t I
511 154 AT ~BR 4.0 3.0 12.0 1 RC =1 =1 I
572 154 0 R R A B 4.3 5.4 23.2 1 RC =1 =1 I
573 251 AE - _AER B 4.4 5.5 24.2 1 RC =1 =1 I
574 154 AR B 4.5 4.8 21.6 1 RC =1 (@] =1 m &4 1,000 R3 990
575 1854 T H# ;| 4.6 3.4 15.6 1 RC J=1 )=t I
576 6 515 KK ~BH 4.6 4.2 19.3 1 RC =1 =1 I
577 151 =/ BB A B 4.7 2.9 13.6 1 RC =1 =1 I
578 154 BEREBEHK A B 4.7 4.6 21.6 1 RC =1 =1 I
579 154 AREA--AER B 5.0 4.2 21.0 1 RC =1 =1 I
580 154 BLE#R I~BH 5.0 4.5 22.5 1 RC =1 =1 I
581 2 5% BRLEE Nz 5.0 5.7 28.5 1 RC =1 =1 I
582 2545 TrE#h §5 ~BH 5.4 6.6 35.6 1 RC =1 =1 I
583 151 LI E#H A B 5.9 3.3 19.5 1 A AL =1 O =1 m g & 920
584 |E4E (5 548) KE - hEER A B 6.3 4.4 27.17 1 RC =1 =1 I
585 4518 KE - hEERK EN:E] 6.4 5.6 35.8 1 RC =1 =1 I
586 6 515 XKE - Z2ER I~BH 7.5 4.3 32.3 1 RC O =1 =1 I R1 6,627
587 154 p=g g=pi% B 7.9 8.2 64.8 1| ®yorpsA=—t J=1 )=t I
588 154 AR ~BH 8.3 4.0 33.2 1 A AL =1 =1 I
589 151 55 B 8.4 4.8 40.3 1 PC =1 =1 I
500 |1 248 BEA® PN 9.8 2.4 23.5 1 A AL = = il
591 251 (RIFEE) L B 1997 11.8 11.5 135.7 1 PC =1 =1 I
592 351 1% R I~BH 12.2 2.5 30.5 1 PC =1 =1 I
593 hEFRIE2 515 p=g g=pi% B 12.6 4.6 58.0 1 A AL =1 | | O = m g & 20, 000
594 154 1% R 5 ~BH 12.7 1.8 22.9 1 A AL J=1 )=t I
595 151 L B A B 2.3 4.5 10. 4 1| ®yorhrs—t =1 =4 1
596 154 BB - INERR A B 2.1 4.9 13.2 1 RC =1 =1 I
597 154 A R B 2.7 6.5 17.6 1 RC =1 =1 I
598 |1 &4 ENERE N 2.9 3.3 9.6] 1 RC = = I
599 2 5% 1% R R Nz 3.1 3.3 10.2 1 A AL =1 =1 o
600 151 H/0O048 A EA 3.1 10.0 31.0 1| ®vorhs=—t =1 =1 I
601 1548 HF - EIGR B 3.3 2.0 6.6 1fmEa>5U—+ = = I
602 154 BB R 4% A B 3.3 8.0 26. 4 1 RC =1 =1 I
603 154 At+h - KRR B 3.5 3.0 10.5 1 RC =1 = I
604 154 EEE I~BH 3.6 6.6 23.8 1| ®yorpLA=t =1 =1 I
605 154 1 Nz 3.7 2.9 10.7 1 RC =1 =1 I
606 154 — B HR ~BH 4.2 4.8 20.2 1 RC =1 =1 I
607 154 Z B e LR ~BH 4.5 4.5 20.3 1 RC =1 =1 I
608 154 Bl gt ] A B 4.8 4.7 22.6 1 RC =1 =1 I
609 154 it - TERE EN:E] 4.8 4.8 23.0 1 RC =1 =1 I
610 |35 AB - BIER RER 5.0 7.5 37.5] 1 RC o 5 I
611 154 AL KETHR Nz 5.2 3.5 18.2 1 RC =1 =1 I
612 154 ME N &R PNz 5.2 4.4 22.9 1 RC J=1 J=1 I
613 154 IR ~BH 5.2 5.3 27.6 1 RC =1 =1 I
614 154 FHLEE A B 5.5 4.4 24.2 1 RC =1 =3 1
615 154 F H FH#H A BA 5.5 6.0 33.0 1 RC =4 =3 1
616 |12 It A4 R 5.7 2 2 125 1 RC & o I
617 |1 54 —HE E: 5.9 15.2 89.7) 1] #ormams—r = = 1
618 |25 KR A EA 5.8 4.9 28. 4 1| ®vorps=—t =1 =4 I
619 FREEB FRE - T IRER R 1956 11.7 5.0 58.5 1 RC =1 O =1 m g & 1,500
620 154 RS @ ER A B 12.0 3.6 43.2 1 A A =1 =1 I
621 154 76 R B 2.0 3.9 7.8 1| ®yorprs—t )=t )=t I
622 |12 AB - hEER R 2.3 4.0 92| 1 RC = = I
623 |a = AH - —BE& e 2.3 5.1 11.7] 1] morxmnner & = I
624 154 hiER - 5158 B 2.8 4.8 13.4 1 A AL =1 =1 I
625 154 HAIA ~BH 2.9 6.0 17. 4 1 RC =1 =1 I
626 15E FE - Bihig A B 2.9 6.5 18.9 1 RC = =1 I
627 154 LiRE#H B 3.2 4.0 12.8 1 RC =1 =1 I
628 2 5% KZRE I~BH 3.4 4.6 15.6 1 RC =1 =1 I
629 2 5% b= HEE Nz 3.5 3.8 13.3 1 RC =1 =1 I
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630 158 FIIULHEE B 3.5 3.9 13.7 1 RC =1 I

631 154 HEE I~BH 3.6 3.7 13.3 1 RC =1 =1 I

632 351 KEEB ] 3.9 4.8 18.7 1| ®oozrnLs—t = = I

633 3EE A/NEK BT & N 3.9 5.7 22.2 1 RC = =4 1

634 6 545 AH - Z_HHER A B 3.9 6.2 24.2 1| ®yorhrs—t = =1 I

635 154 BED LR A B 4.0 4.4 17.6 1 RC = =1 I

636 251 THREH B 4.0 4.8 19.2 1 RC =1 =1 I

637 2515 FILER A BR 4.0 10.6 42.4 1 RC =1 =1 I

638 |a = BAERE e 4.3 4.3 18.5] 1 RG = & I

639 154 HAEBR N 4.6 3.8 17.5 1 RC = =4 I

640 REE2ERE LER - NAK A B 4.8 4.5 21.6 1 RC =1 =1 I

641 154 R TR A B 5.5 9.8 53.9 1| ®yorprs—t =1 )=t I

642 154 =5 B 6.2 4.6 28.5 1| ®yorprs—t =1 =1 I

643 154 KIL4e I~BH 11.4 3.9 44.5 1 PC =1 =1 I

644 BERIE15HE ZREAR B 11.5 6.2 71.3 1 PC =1 =1 I

645 2545 TFHEHRE ~BH 12. 4 5.8 71.9 1 PC =1 =1 I

646 15# (k58 R 2011 14.0 6.2 86.8 1 PC =1 =1 I

647 154 TEER A B 2.0 4.1 8.2 1| ®yorprs—t =1 =1 I

648 251 F/MNEKBH T B 2.0 10.0 20.0 1| ®yorpLs—t =1 )=t I

649 2545 XKE - Z2ER I~BH 2.1 3.9 8.2 1| ®yorPLA=F =1 =1 I

650 |12 LTERN - AER e 2.2 5.8 12.8] 1] wrxmnir & = I

651 154 E iR A EA 2.3 6.2 14.3 1 RC =t =1 I

652 151 F—thEE A B 2.4 4.0 9.6 1 RC =1 = I

653 154 dt T BT % A B 2.5 4.0 10.0 1 RC =1 =1 1 =

654 2 5B FZAEE B 2.6 4.2 10.9 1 RC = =1 I

655 251 ARH - B B 2.7 4.3 11.6 1 RC =1 =1 I =

656 2 5% Z_ BT Nz 2.7 5.1 13.8 1 RC =1 =1 I

657 154 FILEE - SETEE ~BH 2.8 3.1 8.7 1 RC O =1 =1 i} 1& & 3,000

658 254 EH - LA ~BH 2.8 3.8 10. 6 1 RC =1 = I

659 154 T HETR A B 2.8 6.1 17.1 1 RC =1 =1 1 4+ L8

660 158 7 1| R 4% B 2.9 3.1 9.0 1 RC =1 =1 I

661 154 h THET 3 I~BH 3.0 2.3 6.9 1 RC =1 =1 I =

662 158E BYER - AR B 3.0 2.8 8.4 1 RC =1 =1 I

663 151 FE_EHZ A EA 3.0 4.6 13.8 1 RC =t =1 I

664 2 518 H* E# B 3.3 52.5 173.3 1| ®yorhrs—t =1 =1 I

665 154 ERRER A B 3.4 4.3 14.6 1 RC =1 =1 I

666 154 FZAEE B 3.4 5.0 17.0 1| ®vozrpws—t =1 =1 I

667 251 IR BB 76 iR 4R B 3.6 5.0 18.0 1 A AL =4 =1 I

668 2 5% E_HmHE Nz 3.8 3.1 11.8 1 RC =1 =1 I

669 154 BB BB 76 /7 iR 4R A EA 4.0 4.0 16.0 1 RC I=t =1 I

670 154 B3 F0 BT #7 B 4.5 3.7 16.7 1 A AL O =1 = il g & 6, 000

671 154 mERFE A B 6.3 4.4 27.17 1 RC =1 =1 I

672 154 R - AER B 10.0 7.7 77.0 1 PC =1 =1 I

673 1558 ISl ) B 10.5 4.7 49.4 1 A AL =4 =1 I

674 ERIEIEE FEAR - NAK 1962 10.6 6.4 67.8 1 RC O =1 =1 I g & 10, 000 R6 9,513

675 151 X H A EA 6.9 4.5 31.1 1 PC =1 =4 I

676 151 ANERER ] A B 7.0 8.5 59.5 1| ®yorhrs—t = =4 1

677 351 — B A B 7.6 4.5 34.2 1 RC = =4 I

678 |12 58 4% 19 B 8 2 6.2 50.8] 1 PC = & I

679 3 5B A= E-3 "] B 8.8 4.6 40.5 1 PC =1 = 1

680 2 515 TIIABE B 9.1 5.1 46. 4 1 PC =1 =1 I

681 2545 RER ~BH 9.4 3.4 32.0 1 PC =1 =1 I

682 154 B5= ~BH 9.4 5.2 48.9 1 PC =1 =1 I

683 2 51 Z 7R A B 9.5 6.8 64.6 1 A A = O =4 m &4 2,000

684 154 R B 14.0 4.0 56.0 2 A A =1 =1 I

685 HEE15E HE - KR #R 1995 14.8 7.2 106. 6 1 PC =1 = I

686 2 515 FAa# 2017 5.8 4.8 27.8 1| ®yorpLs=—t =1 =1 I

687 154 TEEELR ~BH 6.0 4.3 25.8 1 RC =1 =1 I

688 2 545 — B8 A B 6.0 4.4 26.4 1 RC =1 = I

689 15E 2B 15K A B 6.2 10.0 62.0 1 RC =1 =1 I

690 2 5B TRHE & B 6.5 3.4 22.1 1 RC =1 =1 I

691 154 —_REBE I~BH 13.3 5.2 69.2 1 PC =1 =1 I

692 154 EEAE Nz 13.5 6.2 83.7 1 PC =1 =1 I
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693 158 £ 7 R% B 13.6 3.4 46.2 1 RC =1 I

694 351 KR I~BH 14.0 7.5 105.0 1 A AL O =1 =1 I R2 31,219
695 158E TRIBE B 3.6 5.5 19.8 1 RC =1 =1 I

696 |4 248 7T IAH e 3.9 4.3 16.8] 1 RC = = I

697 154 VAN DHIEE ~BR 5.3 5.8 30.7 1 RC =1 =1 I

698 154 KER A B 5.3 16.0 84.8 1| ®yorprs—t )=t =1 I

699 158 RER B 6.6 4.5 29.7 1 RC =1 =1 I

700 |12 ErRARF—188 e 6.8 3.6 245 1 RC = = 1

701 151E hE 25 2003 12. 4 6.3 78.1 1 PC I=1 =1 I

702 2545 YL B 12.5 5.5 68.8 1 PC )=t J=1 I

703 154 TREER ~BH 12.7 4.7 59.7 1 PC =1 =1 I

704 154 o £ #R A B 13.5 4.5 60.8 1 A A (@) O =1 =1 I &4 20, 757
705 158 KR & B 13.6 5.2 70.7 1 PC =1 =1 I

706 1558 V5L DEEFB B 2.9 4.4 12.8 1| ®yorpLA=t =1 =1 I

707 151E NtERFE 1974 3.0 4.8 14. 4 1 A AL =1 =1 I

708 154 [ & #% A EA 3.8 2.5 9.5 1 RC = =1 1

709 154 TE#H B 4.6 5.4 24.8 1 RC =1 J=1 I

710 351 TRHE R A B 5.3 3.6 19.1 1 RC = =1 I

711 154 EERPSCE B 6.4 5.9 37.8 1 PC =1 =1 I

712 1558 P& B 11.0 4.5 49.5 1 AR L =1 = I

713 151E tift 3 5% Nz 11.5 2.6 29.9 1 A AL =1 =1 I

714 154 /N R AR ~BH 11.8 3.6 42.5 1 A AL =1 =1 I

715 254 ==N1IE ~BH 2.0 9.6 19.2 1 RC =1 = I

716 4518 — B A B 2.5 9.0 22.5 1| ®yorprs—t =1 =1 I

717 551 — B B 2.5 10.0 25.0 1| ®yorprs—t =1 =1 I

718 154 e 432 I~BH 3.0 4.8 14. 4 1 RC =1 =1 I

719 |3 =4 BT x5 3.0 7.5 22.5] 1| morarair = & I

720 (1248 Ak e 3.3 10.0 33.0] 1] moramns-r = = 1

721 151 Z 7R A B 10.3 7.9 81.4 1| RyrrHnn—t =1 = I

722 154 BHE- - ORK A B 10.3 15.9 163. 8 1| ®yorprs—t =1 = I

723 154 o [ E R B 11.0 2.7 29.7 1 A A [ | O =1 =1 I [EE:3 6,000
724 154 b 2 54 I~BH 11.0 5.9 64.9 1 RC O =1 =1 I &1 7,000
725 154 HE -#EBRE Nz 2.2 3.3 7.3 1 RC =1 =1 I

726 2545 KEAXRE ~BH 4.0 4.4 17.6 1 RC =1 =1 I

7217 154 AKEXRE ~BH 5.0 4.6 23.0 1 RC =1 =1 o

728 154 REMERR A B 4.2 4.8 20.2 1 RC = O =1 m &4 4,000
729 2 5B RKETERE B 4.2 5.2 21.8 1| ®vozrpws—t =1 =1 I

730 251 12 BF BR Al £ A BR 4.4 6.2 27.3 1 RC =1 = I

731 154 THXRE Nz 4.5 4.9 22.1 1 RC =1 =1 I

732 154 HZTRNIGH B 5.0 4.0 20.0 1| ®vorps=—t =1 )=t I

733 2 518 HZT25# 2017 8.0 8.0 64.0 1| Ryr2Hpn—t =1 )=t I

734 154 KX T A B 6.9 6.0 41.4 1| ®yorprs—t =1 )=t I

735 2 5B T HA#K A BA 8.0 5.0 40.0 1 RC = =4 I

736 154 LA I~BH 8.0 8.2 65.6 1 PC )=t =1 I

737 |22 AE - BRE x5 5.0 9.0 45.0] 1] morarair & = I

738 KHmiE (1 548) [ 3 £ #% 1982 13.6 4.3 58.5 1 PC =1 =1 I

739 |3 E®E INFD B &8 T Bf 6.3 3.8 23.9 1 RC =4 = 1

740 154 INFD B R A B 6.5 4.5 29.3 1 RC =1 =1 I

741 154 MWEH 154 EN:E] 7.1 3.3 23.4 1 RC =1 =1 I

742 154 LA I~BH 7.3 3.5 25.6 1 PC =1 =1 I

743 154 FE=2 354 Nz 7.3 3.6 26.3 1 PC =1 =1 I

744 154 & AR ~BH 8.0 4.1 32.8 1 A AL =1 =1 I

745 154 FIFER ~BH 8.0 5.1 40.8 1 RC =1 )=t I

746 154 WL 2 5 A B 8.5 3.1 26.4 1 RC =1 =1 I

147 154 ER#& B 8.5 4.0 34.0 1 A A =1 =1 I

748 154 HBETH A BA 8.5 4.6 39.1 1 RC =1 5 I

749 151E W REER N 10.0 4.3 43.0 1 PC = I=t 1

750 151 HILT 35 A EA 13.5 5.2 70.2 1 PC =1 I=t 1

751 151 BY158K A B 13.6 3.1 42.2 1 a =1 =1 I

752 15E WA ANER A B 14.5 3.5 50.8 2 RC =1 = I

753 158 ZHWAER B 14.6 4.4 64.2 1 A A O =1 =1 I

754 124 %A O 4 s 2.5 6.2 15.5] 1 RC = = T

755 |1 848 EiRE T8 6.0 3.3 19.8] 1 RC = = T
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756 158 KR # B 6.1 5.0 30.5 1 RC =1 =1 I
757 2515 MWEEH 154 A BA 6.2 3.3 20.5 1 RC = =4 I
758 2 5% MR RKEKITH I~BH 6.2 6.0 37.2 1 RC =1 =1 I
759 |1 54 WL 1S T B 6.3 1.5 9.5 1 RC = I I
760 154 HER ~BH 6.5 4.6 29.9 1 RC =1 =1 I
761 2 51 WA ANER A B 6.9 4.0 27.6 1 RC =1 =1 I
762 154 MEDER EN:E] 7.1 6.0 42.6 1| Kvorhns—t )= =1 I
763 |42 R xR e 57 5 2 79.5] 1| mormnnir = = I
764 2 5% SRR O Nz 10.3 1.9 19.6 1 A AL =1 =1 I Bk
765 FEE15E EeE1ER B 13.1 4.2 55.0 1 PC =1 =1 I
766 35 AKEXREE ~BH 13.5 5.3 71.6 1 PC =1 =1 I
767 2 51 (KiAE) ETERR 2018 17.5 7.2 126.0 1 PC =1 =1 I
768 551 INFD B R A BA 4.0 3.5 14.0 1 RC = =1 I
769 1558 AKEDERK A BR 4.6 4.5 20.7 1 RC =1 = I
770 6 515 INFDA 1R A~ BA 4.9 2.8 13.7 1 RC =1 =1 I
771 154 X 48 A EA 5.2 4.0 20.8 1 RC = =1 bi
172 151 RKETH R B 5.3 2.7 14.3 1 RC =1 =1 I
773 154 o R #R A B 5.7 3.4 19.4 1 RC = =1 I
774 4518 INFDB 1R EN:E] 5.7 3.5 20.0 1 RC =1 =1 I
775 1558 ERhER A BR 5.9 4.8 28.3 1 RC = =i 1
776 35 RKETLTAK ] 6.2 8.2 50.8 1| ®oozrnLs—t = =1 I
1717 154 KRl X% A EA 6.8 3.8 25.8 1| ®vorhs=—t =1 =4 1
778 151 gL B 11. 4 5.2 59.3 1 PC = =4 1
779 154 12 B9 BR Al f7 A B 12.9 6.2 80.0 1 PC =1 =1 I
780 2 5B LA R B 2.2 3.0 6.6 1 RC =1 =1 I
781 351 LA I~BH 2.6 3.1 8.1 1 RC =1 = I
782 2 5% KiAAE Nz 3.6 2.6 9.4 1 RC =1 =1 I BiE 430
783 154 EHE3EH A EA 3.7 2.2 8.1 1 A AL I=t I=t I
784 151 $2E2548 A B 3.7 3.0 11.1 1 RC =1 O =1 m &1 4,000
785 154 Y 35 A B 4.0 5.1 20. 4 1 RC O =1 =1 I [EE:3 1,000 R3 2,255
786 154 AEH15& B 4.3 4.5 19. 4 1 RC =1 =1 I
787 |1 = XA 8 o 24 39 72| 1| Formmer e - "
788 158E =) Nz 10.4 4.3 44.7 1 RC I= I=t b
789 151 JIl FH A EA 10. 4 5.2 54.1 1 PC =t =1 I
790 151 A& B 4 ER 1985 6.0 4.4 26. 4 1 PC )=t =1 I
791 154 INMR KR A B 7.0 5.5 38.5 1 RC = =1 I
792 158 EXKkbhBE2ER 1982 8.6 3.2 27.5 1 PC =1 =1 I
793 3 5B RERB#R 1995 13.0 7.3 94.9 1| ®yorpLA=F )=t = I
794 158E ZXE-7I34KE 2000 12.0 3.0 36.0 1| wvozmns—t = =1 1
795 154 HEES g 1999 14.0 5.2 72.8 1| ®vorhs=—t =1 =1 I
796 EiBE BREEHR 2006 14.1 5.6 79.0 1 PC )=t =1 o
797 5518 AR BR#% 1981 5.3 5.2 27.6 1 RC =1 = I
798 158 FIL1ER 1992 6.4 3.6 23.0 1 RC =1 =1 I
799 1558 EKDER 1998 6.5 5.8 37.17 1 RC =1 I=t 1
800 154 HHIET B 1953 8.3 3.5 29.1 1 A AL =1 =1 I EHEE
801 151 LtERN-HFrEH 1977 8.5 3.0 25.5 1 PC =1 =1 m BI 18
802 BEELEBESESRE BEEHR 1974 13.4 5.4 72. 4 1 A AL =1 = I
803 |BERNE1EE AR 1953 13.5 4.7 63.5 1 PC =1 =1 I
804 [=ZHEEBE(151) EKRKXHE 1968 14.0 4.1 57.4 1 A A O =1 =1 I R1 5,730
805 EZEWB251E 2% - LUK 1970 14. 4 5.3 76.3 1 AR )L O =0 =1 o R2 10, 406
806 154 #t F 4R 1963 4.8 3.3 15.8 1 RC = =1 I
807 INRARE1EE BEELIHHK 1953 4.9 5.0 24.5 1 RC =1 =1 I
808 BRE15E BHEETEWREZ 1975 6.0 4.4 26. 4 1 RC =1 =1 I
809 154 BEEZR#H 1953 7.6 5.1 38.8 1 RC O =1 =1 m BILETTE
810 158 K1 1996 8.1 5.2 42.1 1| ®vozrpws—t =1 =1 I
811 1558 B 2002 10.5 5.2 54.6 1| Rvozmns—+ =1 =1 I
812 151E TEY - MR 1994 11.2 3.8 42.6 1 PC = =1 I
813 154 SBERE 1977 11.6 6.0 69.6 1 PC =1 =1 1
814 BEEE1S5E o 7 #R 1954 13.7 5.1 69.9 1 RC =1 =1 I
815 15E THOK 1995 4.2 5.2 21.8 1| ®vorpRs—t =1 =1 I
816 154 WikhR 2 5K 1973 4.3 4.7 20.2 1 RC =1 =1 I
817 154 R BR 1976 4.5 7.4 33.3 1| Rvozmns—+ =1 =4 I
818 2 51 EKKHER 1968 4.7 3.9 18.3 1 RC =1 =1 I
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819 154 KR LR 1965 5.0 4.2 21.0 1 RC =1 I
820 154 SBINER 1980 5.5 4.0 22.0 1 RC = =i I
821 154 B iR # 1963 8.1 7.5 60.8 1] wvormns—t = =1 1
822 KBB4 EE R B#R 1961 10.5 6.5 68.3 1 PC =1 =1 I B 3% B AE 2,502 R4 2,502
823 154 A 1E 8 1995 11.7 5.2 60. 8 1 PC =1 =1 I
824 154 W/ Hi2E#H 1977 2.7 3.3 8.9 1 RC =1 = I
825 251 HEEZR#H 1953 3.0 4.2 12.6 1 RC =1 =1 I
826 1558 EOELE2E#H 1981 4.1 4.0 16. 4 1 RC =1 5 I
827 154 Lty - B ER 1977 4.4 3.9 17.2 1 RC I= =1 I
828 4 545 ORER 1976 4.7 5.0 23.5 1| ®vorhs=—t =1 =1 I
829 2 518 OEE#K 1974 5.0 4.4 22.0 1| ®yorhs—t =1 =1 I
830 351 EK#R 1981 10.0 6.2 62.0 1 PC =1 =1 I
831 251 THOHK 1995 10. 2 5.2 53.0 1 PC =1 =1 I
832 3 5B TR - BEE&K A BA 3.0 5.3 15.9 1 RC =1 = I
833 5 5% TR -EBE#H Nz 3.5 5.0 17.5 1 RC =1 =1 I s fE 1,355 R5 1,355
834 4 545 TiR - BEE# ~BH 4.8 5.0 24.0 1 RC =1 =1 I
835 351 TR - Bl A B 5.5 8.5 46. 8 1 RC =1 =4 I
836 2 51 TR - P& B 5.9 5.5 32.5 1 RC = =4 I
837 251 BEE-EE% B 9.4 5.3 49.8 1 PC =1 =4 I
838 251 TR - BEE&K 1987 13.6 6.2 84.3 1 PC =1 = I
839 2518 TR - kDA ER Nz 6.9 9.0 62.1 1| ®yorpLs=t J=1 )=t I
840 154 ESCE ] ~BH 7.0 3.9 27.3 1 RC =1 =1 I
841 FENEE1E5E o 55 35 I 2 §R B 7.0 5.2 36.4 1 RC =1 O = I g & 1,300 R3 802
842 154 A F # A B 7.4 5.2 38.5 1 PC =1 =1 I
843 154 KR # B 9.4 4.7 442 1 PC =1 =1 I
844 T AE (1 548) o i A R 2003 12. 4 7.0 86.8 1 PC =1 =1 I
845 1247 4t T B 5.1 3.0 15.3] 1 RC = = I
846 |1 248 IR B 5.3 2.1 11.1 1 RC = = 1
847 154 R EER ~BH 5.7 5.8 33.1 1 RC =1 =1 I
848 351 INE R A B 6.4 4.4 28.2 1 PC =1 =1 I
849 2 5B AE - #AK B 6.8 4.8 32.6 1 RC =1 =1 I
850 3 5B ER-ES#H 1991 11.1 6.2 68.8 1 PC = =4 I
851 154 =/ Rg Nz 4.1 5.2 21.3 1 RC =1 =1 I
852 |2&i4E INE S L] 5.2 5.1 26.5 1 RC = =4 1
853 151 THEH B 5.3 9.3 49.3 1| ®yorhrs—t =1 )=t I
854 154 T # A B 5.4 5.9 31.9 1 RC = =1 I
855 2 5B 74 i 4% B 5.5 4.3 23.17 1 RC =1 =1 I
856 154 HEBERNE I~BH 11.0 4.7 51.7 1 RC )=t =1 o
857 BEEE15E BEEK-EE2& 1958 11.1 5.7 63.3 1 RC =1 O =1 m g & 10, 000 R5 2,449
858 154 F LR ~BH 3.3 3.0 9.9 1 RC =1 =1 I
859 151 RO B 3.7 3.3 12.2 1 RC =1 = I
860 154 1l B R A B 5.0 4.3 21.5 1 RC =1 =1 I
861 3 5B BE - MER B 7.3 21.5 157.0 1| ®yorprs—t =1 =1 I
862|428 T - P& e 7.8 4.4 34.3] 1 PC & & I
863 154 iR g ] I~BH 10.4 5.2 54.1 1 PC =1 =1 I
864 151 R TR A EA 14.8 6.2 91.8 1 PC =t =1 I
865 45 HA - HHK 1961 31.4 6.1 191.5 2 RC O =4 =1 m £ 129,978
866 |MHERE HEREE 1995 60. 4 2.7 163. 1 3 PC O = =4 I
867 mMAE TEREE 1999 45.9 5.0 229.5 3 RC O =3 I
868 EEE TERREE 1999 45. 6 5.0 228.0 3 RC (@] =4 =1 I
869 7 F R HEREE 1998 53.3 8.1 431.7 3 RC (@] = =1 I
870 LB TERDEE 1998 43.8 5.0 219.0 3 RC (@] =4 =1 I
871 A HA - HHK 2020 38.0 1.7 292.6 1 A AL
872 |FBEIIE & - FEER 1962 23.1 8.1 187.1 PC = =1 I
873 HEAE T - NI 1999 39.8 11.0 437. 8 1 A A m
874 BB T - NI 1972 24 4 5.8 141.5 1 A AL =4 O =1 m
875 |HBA4E T8 - INIE 1969 22.5 5.3 119.3 1 A AL = = I
876 B/ LB T - INIER 1991 25.0 10.5 262.5 1 PC
8717 X )R TE - NI 2000 19.1 11.0 210.1 1 PC I
878 |2%E T - NI 2001 14.5 11.0 159.5 1 PC = =1 I
879 |LXm 184 (IRELIHE1) T - NI 1975 7.1 6.0 42.6 1 =1 =1 I
880 TH2E5#E (IBEEIE2) T - NI 1971 9.5 4.2 39.9 1 PC =1 =1 I
881 TR 354 (IBEALIEI) TE - NI 1970 5.0 3.6 18.0 1 PC =1 =1 I
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882 TRA4BM (BLR754M) | T - IMNIER 1970 4.5 3.9 17.6 1 PC =1 =1 I
883 AETFNY T - INIER 1967 6.6 3.9 25.7 1 PC = O = I &1 1,000
884 ke S VASS T - NI 1967 12.7 4.0 50.8 1 RC =4 =1 I
885 FIARIND T - NI 1966 3.7 4.2 15.5 1 PC =4 =1 I
886 a9 79Ny T - IR 1969 3.5 5.0 17.5 1 PC =4 = I
887 |44 513 T3 - IR 1973 4.7 4.0 18.8 | 1 PC = & I
888 |z B +3 - IR 1970 12.6 5.8 72.8] 1 PC = & I
889 FTYRNY T - INIER 1964 5.0 4.0 20.0 1 PC =4 =1 I
890 EKRBEB BEEAURINEER 1982 16.5 6.7 110.6 1 A AL = =1 I
891 INEOEBX CKIBARYI R 1) E%T p;ﬁj” ﬁiﬁlﬂ 1997 2.3 4.9 11.3 1 Ry ZANA— o
892 TIELZND BEAUARINEER 1972 11.0 3.7 40.7 1 A AL J=1 )=t I
893 |#FAF NS ERA L ARNEER 1966 6.0 3.7 222 | 1 RC = & I
894 YERIND BEEAVRINEER 1970 5.5 3.0 16.5 1 RC = =1 I
895 FAIFBOX (IBRY S R) BEAVRINEER 1985 3.0 3.6 10. 8 1 Ry ZAN— b I
896 LF Ny BEAVRINEER 1970 6.0 3.6 21.6 1 RC = =1 I
897 RAER =N BEAUARNEER 1973 4.3 3.2 13.8 1 RC J=1 )=t I
898 1L #8548 (LU #BOX) BEAVRINEER 1972 2.0 3.7 7.4 1 Ry D ZNNR—b =1 = I
899 |=mHIE HESTY LR 1988 33.5 2.8 A8 = & I
900 [xmEiE HETR A 6 2 & 2000 13.2 14.0 RC & = I
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